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Defing the 1erm dore moded as used i databases, Eaﬁytfﬂiﬂﬂﬂlﬂ
Outline four disadvantages of & Merarchical database. (4 marks)
Deseribe four steps involved in the design phase of a database system (8 marks)

An enitity named student has the following attributes; studeniid name, dateofbivth, address and

The name is made up of the middle, last and firstsname. while the address is made up of the
wu:n:l city and code.

Diraw an entity fipe diagram to represent this information. {6 marks)



easytvet.com

z. tay  Owutling three disadvantages of & dorgbase management sysiem {3 marks)
' (k) Nancy intends to install a centralized dutabase server system to manage the company”s data,
Explain three benefits he would achieve from this approach. {6 marks)
Bl ™ L e e S e e T R R e S R G
(e} Distingoish between distributed database and elfent/server daiahase, {4 marks)
| ' ; . _ ; ;
| (d)  Inahospital, a doctor can be assigned 10 many patients. A doctor is assigned a nurse 1o assist

when attending to a patient. Each patient is assigned three nurses A patient may be required 1o
ke drugs a certain number of imes per day,

Draw an Entiiy relationship diagram to show the cardinality, optionality and mandstory where
applicahle (7 marks)
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3, ta)  Dutline four benefits of usabifiny festing during development u|‘uﬁa@ﬁ‘i:1}§§$m@9m

(4 marks) #
th) DPrescribe three components of a dotabase management Sysiem. (6 marks)
. z‘lJﬂ'*Jm.g..ri‘
: ...ﬁﬂiﬂ-‘l‘ﬂ.ﬂ' ........................
() l'able | shows records of emplovees stored in o database. Use it to answer the
gquestion that follows, (10 marks)
__LTI_IEEE:M;  Firstname Lastname _!_E;Euninp_l_ﬂﬂd_ - Salary Grade
1010 Walter Wiliams C1IAT1/2009 | 10000.09 | Lower
1011 | Jung | Antony U9/11/2007 | 20000.56 | Higher ,
1012 | Nicholas | Kings  D6/062008 | 25000.67 | Higher |
1013 | Mary | Anne O5/10/2008 1500045 | Middle |
1014 | Johnstone Pielly 1 21120200 11000.99 | Lower

Table 1: Emplovee

Wrile SOL statements that would:

(i}

{ii)

{111)

29207206

extract the firstiames in uppercase and |astnames :

extract the first three characters of the Grade and store them in a field named graded =

E

determine the munber of characters in the lastnamre and store them in the field AT

lasinamesize;



: s easyivel.com
() round off the values  in the salary field 1w 0 decimal places and siore Them i the Tield
= named sl

(vi  set the date values to the format ‘yyyy/'mm/dd’ and store them in the field named
deteemploped!,
4. {a}  Bescribe the circumstance under which an bategrity comstramt would be used during
database design. {2 marks)

B} Explain two advaniages that a business enterprise would derive from an orline database system
- [ murksy

e Distinguish hetween authentication and authorization os used in datsbase syslems.

= (4 marks)
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W) () Stae two objectives of performing normaiization in databuses.  ©8SYIMEsCOM

(i) The following are details of a student stored in a uable; studentne, stadentuame.
dateafbirth, subject, subjecioode and grode

. Justify that the table is not in its INF, (2 marks)

b wamekbittbiimtid it id v badddtdrin

|||||||||||||||||||||||||||||||||||||||| S S TR IR T

[, Cutline two pdvantages of denormalizing a table (2 marks)

(ni)  Dhstinguish between functional dependency and transitive dependency giving an example
' m each case 4 marks)
5. {a) Ohutline six features of a dorabase management sysiem. {6 marks)
(b} Distinguish between a fogical database designer and a physical database designer.

(4 marks)

|
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(&) Fable 2 shows details of furniture stored in a database. Use it to answer the quesi L.com

follows, ( 1) marks)
ITEM  ITEMNAME QUANTITY ITEMPRICE STATUS
- CODE =~~~
| F000  Beds 30 | {2000 | EXCESS
FDOI0 [ Tables 200 7000 | EXCESS
o003 Sofa sets ] 100 35000 | EXCESS
Fooil (Woardeobe | 50 | 18000 | REORDER
Foli4 Computer desks 145 | 3000 | EXCESS
Foo2 Chatrs 45 1600 RECGRIIER
Fable2: Furmiture
Wnite a SQL statement that would:
(1) extract details of items whose ffempame starts with letter ¢;
= it determine the cost of each item and store them in a Geld named rosaloost,
(i) extract all details of items whose emprice is greater than 15000 and the
demmame ends with s;
. (v} sort the items according 1o the flemcode in ascending order,
(v delete the item whose ifemcnde is FOO4 from the table.
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Outline the function of each of the following terms 25 used in rﬂaﬁﬂiﬂmwet com
(4 marks)
-

() project operation

+ +4 - L
(i) eross produet |
(it)  naoural join:
{ivl  canesian product i
Distinguish between index and unigue index as used in SQL.
H- marks)
Tahle 3 shows details of students stored in a database, Use it o answer the gquestion
that fisllows. L
 STUDENTNO | STUDENTNAME | UNITCODE | MARKS |
Koo Kelly IcT 70 =
K002 Rose HR 30
K003 Bronz SECRETARIAL S0
K04 Emelda MECHANICAL 30
T k001 Kelly HR (il
~ Koo3 | Bronz [ ICT 93

Table 3: Kemkem

Write an SCL statement that will display each of the following tables as an cutput,
(12 marks) |
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STUDENTNO STUDENTNAME UNITCODE  MARKS
K001 Kelly ICT 70

ROU3 Bronz ICT B 3

(ii)
STUDENTNO |
B Ol |
K02
K003
K04

(i)

MARKS
T0

(v}
STUDENING | STUDENTNAME | UNITCODE | MARKS
Koo3 | Brone | 1ICT )

Mutumishi Business Enterprise has been using the fraditional dalabase to maintain thelr
records. Explain three disadvamages that they are likely to face by using this approach.
(& marks)
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| (b The following is a structure of & table names paticnr rec. Use it 1o answer the question that

follows,

Ficldname Datatype Constraint

PatientNo Number{ 10) primary key

Firstname Vurchar(25) Not Null

Lastname Yarchar(23) Not Null

Tolalcost Currency Not Null

Write a SOL statement that will create the table with i associated Gelds, (4 marks)

=
(e} The following tables shows & database schema that  college used 1o assign teaching units to
lecturers. Use it to answer the question that follows. (1) marks)
Lecturer table
_ Lecturercode | Lecturername |
Lo0] ALL
. Loa2 _FRED
L Lo03 | ANTONY
CL004 _ANITA
-
Linit Table

Uniteode | Coursename
Csedd20 | ICT
| Csedd30 | HUMAN RESOURCE
Cse7740 | MECHANICAL ENGINEERING
CUsc TR0 BUSINESS ADMINISTRATION
 Csc8800 | ELECTRICAL ENGINEERING

Lecturerunit table

Lecturercode | Unit code

LO0T | Cscd430 - .
Lool | Csedd20

Lo03 Cscd430 =i

1003 Csc7740 | 1
LO0d - Usc7820

e I i
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Wrrite relational alpebra o:
3] display those lecturercodes who have tanght the course whose code 15 "ese2430° and not
Lesc A0

L1} display those lecturercodes who have faugnt courses whose codes-are “csed430" and
‘eae 7740,

(1) display those lecturerodes who have not taught a course whose code is “cse 77400

(iv)  display courses that have never been taught:

Explain the function of each of the following notations as used in relational algebra:
{& marks)

{111} .
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fe)  The following dath is 1o be stored in & video database, Use it to answeRi NG LGOM
follows.: =

" CustNo | Custname | VideoNo | VideoTitle | SupplierNo  Supplier | Date Date Yden |
Lo ALY _1 nome | loaed e vinel
Chod | ALT VCTO0E | BenS | WDO0| VIDCO | 2201712 | 26M1/I2 20000
o PETER VXTO0 | A full from | VDRI VIDCOD: | 25MI102 [ 280112 200,00
| theeliff | | |
€003 | SUSAN | VXTOI6 | Thebwedad | VOOO2 | FIZON | 020207 | 0302012 | 350.00

€04 ALT | VCTONZ | Thedeargirl | VDOD] | VMAP | 040212 | 070212 | 30000 |

Normalize the data 10 3NF. (10 marks)
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